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s 11:30  |MEFEXRY 3-0 ZHIXXRF|BEIEXRP(BEIXRF| HEXFE | HEXFE
i lsaemm A 1350 [HEIXKRF 1-0 BEXRFE |MEFEXRP(HEFERZ|ZHEIERP[ZHIERS
—— 11:30 XHEKRFE 1-0 WEKE | £XXZE | £XKZF | BHKXE | BHIF
13:50 HERFE  0-3 BHRKRE | XBKRZE | XEKRFE | HAEXE | #BEXFE
— 11:30 HERKRFE  0-7 HWAEKE | HEAF | HEXKFE |MEFERRP[HEFZERS
o lssiiam 1350 [HMEZEXF 2-2 BEKRZFE | HAEKXE | HEAKFE | £XXF | £XXF
" 11:30 XEKRE 0-0 BHPRFE |CHIEXRF|ZHIERP|BEIEXRF|HETERY
ABA 1350 [BEIEXY 5-0 ZHIXXY| BHXE | BHRE | XEKXE | XHXZF
—— 11:30  |HxEFEXE 2-1 BHRXE | £XKF | #HRXXFE | HFEXZE | HEXF
3 sa1sace) 13:50 HEXRE 1-0 FHEXFE |HEFEXP(HEFERZ| BHKRE | BHAFE
g 11:30  [B/EIEX® 1-1 WEKFE | XEKFE | XEBKRF | CHIERP|EHITERS
13:50 XHKRFE 3-2 ZHIXRP|BEIZEXRF(HEIXERT| WAEKXKE | BEXFE
s 11:30  |MEFEXRFE 2-1 WEXKE |[ZHIERP|ZHIERF| HEXXE | £XKZE
4 lossae 13:50 HERF  3-2 ZEHTERP| HAEKRZE | WAEXE |HEFRERZ[HEFEXS
N 11:30  [HEIEXRY 3-3 BHAE | HERFE | HEXFE | XEKXKFE | XH#HXF
13:50 XHEKRFE 1-2 BEXRE | BBXZE | BEARFE |BEITEXRP(HETERF
r—— 12:00 WREKE b-1 ZHIXEXRZ(HEFERF|MEFEXRE| XHKF | XHBKXF
& on1sacm) 1420 [HEFEXFE 2-1 XEKRZE | BEXE | BEXKFE |EHIERP|EHIERF
——— 12:00 BHRE 2-1 BEXRF [BEIXXP|BEIFERFE| HEKRF | £XXF
1420 [BEIEXY 1-2 HEXRZFE | BHXE | BHRE | HEXE | HEXZF
s 11:30  [mEZEXE VS HERKRZFE | HEXE | HEAXFE | HEXFE | HEXF
6 lomsoncm 13:50 WEKE VS BHERFE | HERKRE | £XXZE |MEFEXF|HEZEXE
R 11:30  |BEIZXEXRFE VS XEAF |CHIEXP|[ZHEIXRZ| BHXE | BHXFE
13:50 BHARE VS ZHEIXXY| XEXKZE | XBKRE |BEIERZ|BETERF
s 11:30  [mMEFEXE VS HETFEXY| HRXXFE | HRXKFE | XHKXFE | XHXZF
5 essenca 13:50 HERFE VS XHKRFE |MEFEXRP(HEFERF|BEIERP(FEIERF
r—— 11:30 WEAFE VS BHKRKE | HBEXFE | HERFE |EHIERP|ZHIERY
13:50 BERFE VS ZHAIEXRZ| HAEXZE | MEXE | BHXZE | BHXE
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2014 F—L4 M| BL| R | XK | HE | BH | BFE|ZH| B | & | 2 | SR &R |[&RZ| BR | B
1 | MIEFEKRZE 2-12-1]2-112-2|3-0] 4 0 1 11 5 6 13 1
2 | BEIZEXR® 1-2 1-113-3[1-0[5-0] 2 1 2 11 6 5 8 3
3 HRKF 2-1 0-710-3]1-0]3-2] 3 2 0 6 13 | -7 9 2
4 XHEKEFE 1-2 1-010-01-2[3-2] 2 2 1 6 6 0 7 6
5 WEKRFE -2 1-117-0( 0-1 5-1] 2 2 1 14 5 9 7 5
6 BHARFE 1-213-3[3-0(0-0 2-1 2 1 2 9 6 3 8 4
7 BERF 2-2(0-1]0-1] 2-1 1-2 1 3 1 5 7 -2 4 7
8 | ZMIEKRF¥|0-3|0-5[2-3|2-3]|1-5 0 5 0 5 19 1-14( O 8




